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RAILWAY RECRUITMENT BOARDS
Yo arelt @13

Level-1 Posts CEN-02/2018

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

! 19 ¥, 2020 @ R F @ #F @ R @
Ans x.]m

X 2 yfaEr

X5 gEaR

v o IfEEr

M

% BIEFE

12 A B C D
Ans X 1D
v2B
Xs A
X4C

Q.3
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=lofEa & ¥ oRaw g siad 2
382

X234+ 4

X332-2

<412 +1

gy TEAT 56 AT 9 B s ¥ TEeT B2

Ans X 1.
X2
v
F

4]

O »m —+~ O

Q.5 3% #F & 16250 F1 AT ST FA E, S B & o A A TR S S T F 17840 @ e
Plasfrer

Ans of 1. 12%
X2 10%
X3 11%
X4 13%

Q.6 PCA (supervisory tools to maintain sound financial health of banks) stands for:
Ans X 1. Possible Collective Action
< 2 Possible Corrective Action

+ 3 Prompt Corrective Action
< 4 Prompt Collective Action
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Q.7 fiw v et it st o cae @ 9F 3t 37 freed w7 g9 Y S w7 ahEE T W
FTEIUT FAT

hed:
o 75 i wE T F
o« FoATFE TN FE
forsry:
1,50 Yoo d
2,70 A Y €

X1 e frsed 1 SFEROT aaT ¥
X2 gt Ty e T §
X o I FASHT 2 HFEOT FAT B
v o g ofr Y ERer A A B

Q8 WWhich of the following worms causes elephantiasis?
Ans X 1. Round worms
/< 2. Tape worms

/< 3. Hook worms

v 4 Filarial worms

Q.9 can be used as an olfactory indicator.

Ans o 1. Vanilla
K 2 Alum
/< 3 Amla
#< 4. Tamarind
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Q.1 geear 2T H 76 2 km Fr g 7% Foh § 3T BT 97 @1 3T 759 500 m s wwE ¥ o=
0 st arifives feufdy & fw R & 10

Ans x 1. m—q':c‘r
X 2 Fear-afdEs
v 5 gietur-aTeas
X« EEorgE

Q1 s w#RwE F otue A Fr wETTE: Fig IFaeE {HE & aH F S A 9 {Ee
1 = swiow g

ans 11905
X 2 1920
X2 1910
v+ 1918
G MgCO, %21 g & #afmm & 3wy gl
ans 1. 025
2 0.21
5. 0.31
4 051

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

% 9fE peater s =T T G ¥ e 2
Ans xm iﬂ
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X2 HTels
X o Afrwar
v o aratéer

0‘-‘1 21 JF 2027 ¥ 547 p.m. ® 22 57, 2028 ¥ 5:39 p.m. F I A THIER T &2

Ans X 1. 366 faat 8 fieTe
X 2 367 fe=r 8 fAme
V'3 366 & 23 T¢ 52 &=
X 4 365 feeT 23 @ 52 A=e

Q.1 vw gHERET Fea F O AT 9 F ¥ Tode S SivE 5 ¢ A REaan = S e wedm 10 3
5 ze=gw T Fr 3= e =

Ans X 1. 45
X2 25
X315
v 35

Q“l . - - =i .
¢ Which type of reproduction can bring greater diversity?

Ans  of 1. Sexual
< 2. Asexual

/< 3. Regeneration

/< 4. Budding
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Q.1
7

Ans 5 1. Magnetite
& 2. Bauxite
+ 3. Cinnabar
/< 4 Hematite

is an ore of mercury.

% A & 9 FETr gwer & e FEAT W= geie
30, 42, 54, 66,
Ans J‘I. 78
X< 2 80
< 3 81
X 4 82

Q; % 689 #r RN AN d= T TS B 6% > oneT Hew| AR FMA w1 T qT B a2

Ans X1 T 635
X2 % 700
V'3 % 650
X4 % 625

% S FT arsdEoT oY 2T E
A o1 gefr araETE
X 2 FEe &g
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X feame fig
X 4 TEeTers auAe

% 3@ gaes & 9guE Y S RY T wag ¥ g a6
K SIS TR, e

v 2 s P d, et

X s A IEE. FETer

X 4 FE.HSTEHE. SR

Q.2 ik o oy 9ffEw FE # 5E s A T WS R e F afee avw TR T @R dean
2 3 frae few foam # foam ¥

Ans XK. FeaT-aREH
X 2 Fedl-qF
X 3 3e
v . gfgur

Q2 gt www 3 en e v 3 sl g v e A s s o
e s Aer

X 2 dRAE I Al

X 3 RAW

K4 AR g =
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o‘.‘z FRPF O F RA T R A TR F A Rfafuw w _ Swmwm e d
Ans x.l_ m

X 2 FeS

v i SheanA

X4 Sagey

Qéz T 1,640 YT 7.5% # TUROT IINF =TT FT 2T ¥ 6 I F TF 1 RS g

Ans of 1. T 738
X2 T 742
X3 T 748
X 4 % 750

062 30 kg o #FT vH TG 5 ms! F vF WA AT % WA HE 4 W gl TG GENT o Ao FoA #4787
Ans of 1. 375 J

# 2 375 Pa

X 3. 375 kgms™’

X4 375 N

Q.2 e & T @ e i F o w3 TR 7T & gl 5 km ¥ S gEY TR A gl 7 km B
7 fauhr FRUEY 9F U & TS W oW &1 R 3ifew A8 I o ¥ 7 97 FHeR o we IR A
TN ¥ & 53U e 9 R TR & FoT e km F g 9 w0 87
Ans 1. 28 km
V2 42 km

X3 21 km
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X 414 km

Q.2 v wEfee Huar & oiF & Tl & UF & B & S99 T 6000 F oy Hieg wr & o v
8 gz & R aEw 3T oW F A AT 453 ¥ o qEy w1 & wElha B R @ 3T an
g

Ans X 1. 3000
# 2 T 5000
X3 % 3250
v 4 % 3300

%2 Which of the following does NOT belong to this group?
A. Mercury
B. Paraffin
C. Coconut oil

D. Sediment
Ans x 1.

X
> W o

% fowT e $r awTe gE | Aifee?
75, 81, 88, 96,
Ans X 1.115

X 2110
X 3104
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v 2105

%2 0.0236 Ft TEEH T F @ W 9o GURT B Far geie
Ans ¢1£

550
13

X2 —

3300
13

K3 —

1100
13

X4 —

9999

S mE AR TS T A R A g sa T
e X R

X2 TRy

X 5 e

v ard

Q3 o & F, T, @Y I 7 F S @ AT §, A U g 2 o e 50 11 § @i
3 TEET TE A A F AT 7 ¢ 15 Bl &L T T[T T 1 AFIS A EEN?

Ans of1.33:7
X275:77
X311:7
X477:75
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% oRE F1 Tgen W seEeT W e F TuRe fRar Smeem?
e X 1. SEHEAE

X2 73 el

v gt

X 4 SR

U3 ofx frer @ 7 e B AT R e § A sweh e g
o g Y et o

X 2. HeT N AT

v 5 HeT @ TR

X 4 Her HT Uh-fagg

Q3 s A A TF MA N STF s S T Rr e fl s T dm i T Fla W o v F W &
6w

FIT ToF FT FFIRTLT T HEIOUT F TAT T AT ART?
ah:

I &, Foaur wenfadl @ B & R FEw seer s & wie S aitfufes sgae # seeEr &
gl

II. &, 3% 3T 3o B F AT 30F § 40 HFGH F BT FEA AR

e X Faer aF 2 @vEa ¥
Xeararas 1R ar & a5 2 g &
X3 aF 1 3R 2 3= e &

Vi FFae aw 1 T g
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0%3 UNESCO #r faea = & enfiier Foat=ien aaiednr = v w2or & v &2
S € e

X 2 ¥EH

/< 3. HAgHISg

X 4 Jem gaer

23R S sraw Ag AT

Ans X 1. 24
X218
X3 6
v 12

-1 |

©
B | e
o
ul |t
[
Sl

Y e F ¥ FF v TR AT 32
e XK RfEmT

X 2 m&Rmr

X 3 T

v o B

Q4 faedr vt # TV TRl H AES I T 5,200 v Afgenst w1 iwa 39 T 4,200 F) wh
0 sairfeat @7 shwa 397 T 5,000 ¥1 30 T & TR wARE F wf B 32

Ans X 1. 20%
X2 40%
<3 60%
v 4 80%
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Q4 2017 # BE & frw vRaffeq a@s FI 539 AHs TWHR &= B Ia?
Ans X1 TrefreRT FTETET

v 2. U Hreelr

X5 e\ s

XK 4 gitAar dasit

Q4 mgF T 12 g FEgAE H A gE S § e B AR F At T F 0.006 FHE e § AU
2 sa 31 300 mis ¥| d9% ZaANT g W ARG Fo Foca g

Ans 1180 N
X2 720 N
#3900 N
v 4 600 N

Qé4 TEF T A THAET ST & T 6Ra TR S W @ aew G 2
Ans o ;. TSt AT

X 2 gd A=

W 3 g8 I

X 4 ﬂﬁﬁ'w

Q.4
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4 gedt 9 fodl 9% & gegA 10 kg &1 T2t R s 9% F4T 82
Ans X110 N

<298 N

#3980 N

v 98N

U G R ST F WY FEE A F BT FeF SfiEr S 2
Ans of 1 Sn

X 2 Pb

X3 Al

X4 Au

% & AR T w7 e 2 aar
o e

X 2 = Te

Xa.a&ﬁ'
X4.-\|;igq-|-

Q4 14 cm =W 3T 24 cm FEE F vE o0F 15 om A B F T F of¥ T @ I ¥ W gl
7 Fr FaE T &AET AT Few]

e XK1 1900 em?2
<2 2054 em?2
v'5 1746 cm2
<4 1675 cm2
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0{34 57 faFeT = 907 51 5 A By v wee foEw @ w6 & ¥ wfaenfa s

®[E[[[E[€[[[€]a]?
E| ®|
al€]||® a |
A B (% D
®|a|||€|E|l|a|®| ®|E
1|®
E|€ €[E|zTTe
Ans J1C
X 2D
<3 B
X4 A

Qé“ IfE LOAD & 121514 & & & f3r@T 7137 ¥, & DEAR & v &= #=m anme?

Ans X 1. 45218
X 2 94511
V'3 45118
X 4 45119

Q.5 T SEEE # 60 IR F fov 35 o7 T & mEwwm o 10 R A, oeEw & 15 gww Ak e
0 e &1 39 & 9T 3T e F g AW =marw e R a% g $r S weer 27

Ans X“ 25 ﬁ?l’
v 20 R=
X318 &=
X415 fa1
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Q.5
1

p=236-2(020+12+4x3-2x2)+ 108

AT p T ST gIeT:
Ans X1 _ 9

X2-8

v -4

X4 -10

QS 1§ 7w 4 5 % 15 m AR 3 16 Fex 2 ¢ F T ¥1 3@ TG Hr A T 7 B2
Ans X 1. 517 m
<2617 ms

V'3 517 ms1
X4517 1

% 22-[23-{24 — (27 -29-30)}] = AT BT EET?
Ans X1 _4
X2 1
v 5
X4 3

Q.5
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A R T FAS FHFEIOT &1 T A AT T | HIH A 77 A § T wve F owEw A
AT T AET e

FIT T B FASERT § FEIACT T ITAT AT ST AT TRT?
o

I. &, =@ g ¥ el ¥ Sete & 399 S & I # E T
. 78, ¥ T=0 @i FF 9T IO T £

Ko a1 AR @ & e ¥
Xegaras | 3R a @ a® || #sag &
v o e % | FeEd g
X 4 Faa aF || A= gl

Q5 2

5 15><3—9><(5 +5)+5+(1+3)+10— ?
Ans x-]g

X218

v 28

X4 30

% e F ¥ frey 7% s 9w SRR 2017 S
e X0 g ARl

X 2 zefedAR e

v i feEays 3

X4.§ﬁ1ﬂﬂ?ﬂﬂm

Q.5
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R FRF iR e Rt T R TR A AR s AT T e A E R & F
T e &2

BT F I 3 HAI-HE T F 4 O §| ITF T A T F e 97 22
CamN

1.2 99 e T F £

2.3 9 F T TR A E S e §

e X w1 3l 2 @ v waea 7 ¥
X 2 Faer wud 1 gurea g

v Fua 1 #HR 2 =T TREy Taa 2

X 4 Faer wUT 2 gAT B

% AT oY EF 11 T §E TRE A 37
A of . THTE. e

X 2 fage FEar

X3.'ﬂﬁiﬁm

X4.§iar“i?n

Y TRETTES ¥ IS S & g g 2
Ans “T t;cq-

X 2 gfeqar

X3 =5

X 4 gar

Q.6
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o & Rww # g

A B Cc D
9l 015 5E 23W
Ans ?‘:1- C
v2B
<3 A
X 4D

Q.6 v ZEEER o 6245 & 52 % AW 62 F IOT FL AT FHE 5o T Seow ¥ oA a7 gem?
1

Ans  of 1. 62450
X 2 60425
X 3 62455
X 4 61455

Q.6 THEET 6 km/h F T T 3T W T ET S, A 36 UEY ¥ I9F WS FAT IEA T 5 km/h
2
off| 3RS F 3F P 167 U o THEE ¥ & e oy wer i

Ans X 1. 37.5 km
X 2 525 km
# 3 60 km
v 4 45 km

Qé,6 FAER &1 T T WS A f FE T WA FH H AT A6 S §, 98 66 A S

11111, 235656, 39816561, 41625665536
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Ans X 1. 39816561
X2 11111
v 5 235656
X 4 41625665536

% 26-sp=at aTer WA # Rl Hr FE g
Ans o 1. 299

X 2 325

X 5 650

X 4300

Q6 I Fym s Rt e R R s I s T m T seRm & F
S faw o ¥

e & 99 FA & A 10 3 #5910 499 F7 Fa A a8
FU:

1.93% o #1 ve fags & 8 el 2l

2. 3+t & == #

Ane X Faor Fua 2 T §

X2 wua 1 3Rk 2 v @ gocg JE4F F
X3 grar1 aeEr 2 gueg ¢

Vi Fad FUT 1 9T £

ae ferdieifree dwser &1 Ter #w g
Ans X 11876

X 21873
v'3 1875

(& reactingninia.in
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X< 41885

@6 s 2018 % HER, DMK 3R AIADMK frw Tsr 1 ey wifear &2

s 1 afEeETE

X2 3Ty g
X3 e
X4 FaEF

0{36 TfE 200 N & g 9o & Tive gamr feam oran & 1000 J &, & Pz gam @ S a5 gf &

as f 1B m
X202m
X31m
X42m

Qéﬁ af& RARE #r 181185 & &7 & for@r =1arm &, df YELL & T &5 =1 gem?

Ans X 1. 2561212
X 2 2551313
V2 2551212
X 4 2451212

Q.7

Page (21)
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* e # ae fhaer 37
M o11,96,024 km?
< 2.1,99,724 km?
< 31,906,204 km2

X 4 1,66,024 km?

01-7 IfE NOT &' 141520 & &7 H HIg fFar =ar §, @ EMBLEM 31 form &9 & F1g &wan mwam?

Ans X 1. 523212513
X 2 513212514
v 513212513
X 4 513312513

ke T TN SeEfEE AR e 3
e X sremr ot

v 2 e fafao

X3 sEtea R

X 4 AT fRoT

Y AT A 3 f v A

me o STEEET
V2 o ar
X s d@g
X4 A3H

(& reactingninia.in
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% 7 =7l 2011 & geaE # FiT G BT o9

e X0 dmER
v 2 YA

X s FEa

X 4 FRTeET

057 T cosx + sinx = V2cosx &, aF cotx T AT FIT 7
2+

X242

X237 -1

X4

067 A F R 7 Y &1 aremwe w0 o o 5 7 mm W Fie W@ e s9gEs aem?

€0y ersl

€3

€=3
€23
€13
¢!

Ans X 1.
X2
Vs
5 a

o o0 P

& reachingninia.in
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Q.7 T A, T o g E F 5.6 T F Wl X T §, el T B, I @Ry S 7 9 F |
7w ¥ S F A e & R afy aww A ol B, F adal & s v g & faw s
T 7, o SR F @Rl e # R OET o9 9 27

47 g
<2 56 g
X3 48 e
X4 55 gE

Q.7 7ff 418 o vty Teh 5o & 1 fBwe ¥ v 0.3 A Fr uwr wAfeE $ AN E A 509 A aer
8 anfrr mf fraer 2

Ans X 1. B4 cal
< 2 360 cal
X 3 36 cal
v 4 540 cal

Q§7 faw v Frm w AR w3k oo o fr Teefefee & @S9 o Eumon wum F TR b

e

i HeT 3O TEAET # FEd £, A & 39 gam o g B
TR

~

I A ¥F 39 # 3w 30 w7 &
||.mq1maﬁrmésma§aaﬁiﬁmuaﬁ?rg?m%|

XK AR et R
Xzagarligad @[T
v waa | AR &

X o Faer || R B

(& reactingninia.in
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s o1 s frear e
X 2 fagor enfedr
Vo ETERT AT
X4 Fafa Tumar

068 e off g & SR F o7 A AT FEE AT SRAT oW FiF 27

e X1 gger tEfEaT

X 2 faues wfEafEFar
v o farame st
X“-Wm

%8 Fe+ CuS0, > FeS0, + Cu & 7§ #f&rfem, FT TF 30T 2

Ans 1. 19185144
v 2 20185144
X 3. 20175144
X 4 21185144

oéa 7fe LEGEND & 12575144 & & # f3rr =mar &, af TREND & T &' &7 gom?
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1 1 1
2. - +-=-
oAk F
1 1 1
3. - —===
voou F
1 1 1
4 —+=-=-
f u v

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Q.8 Hr a=ic 2018 &, Fg FFER F Gwon F o BF 97 YT G F e GET F WA B FAT G
4 oo E e

Ans XW- ﬁ'gﬂ
V' 2 U geer
X3 HEH
X4 Fererm

Q8 T FmaA R e Rr T R AT R T I S T I T F SR & F
S5 fwadeE ¥

ﬁw,a@'ﬁmﬁlﬁmsﬁrﬂ@ﬂaﬁmﬂqaﬁrmaﬁ?
CainH

1.3 g v e 27 av Bl

2.15 3t & =1 7R Fr 7y B Fr arEr getl

MK A w1 T
v 2 FuT 1 3R 2 v Ty gueg §
X3 e 1 3R 2 v @y Aty J&F §
X4 Fad FUF 2 9O £

%3ﬁmﬁﬁaﬁﬁﬂmmﬁamﬁaTmﬁﬁrmmWnﬁmtﬁmmvﬁ

Ans
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X = g

X o grEag
v 4 3reraae

Varafry  toeA wfEg aar &
Mo St

X 2 ST

v o THETEeA

X< 4 oftge

Q.8 ymT % 48 § g forem AgeEs (IFFI) & sfow fFew weared 3w 2017 [T @
8 g famm mm

Ans X 1. 3BT FHAR
X 2. eTFAT Y

v 5 afEaTeT Teua
X 4 g

Qés A & € e ¥ & T uRomst F ¥ HA @ A s w82
U
Tl YeU & Sede waT H WNg A Fer vy F sl @ fr gwor & g
AfAFYT:
l. wEus de & B0 v mHe Tesnr aaeT T gl
IIl. SEUa Fem T@a F T g=at F vF HUR AT e 2
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A X ae EEAT I & PRI ®
X2 arar ¥ffeya | 3k ar & s | Afgg &
v Fao ¥Eua | & Afga g
X4 gt & HoFaa | v || Rfga &

8 kg 25 g ® 25 ¥ TOT W W FA WO Fr?
Ans 1. 199.625 kg

v 2 200.625 kg

23 199 kg

2 4 200 kg

% e & o€ et v wen 7 IETer U T gem?

12B, 2H, 14C, 4G, 16D,
Ans X1 18E

X 2 6E

X 3 6Q

v 4 BF

Q.9 The diagonals of a rhombus are 12 cm and 16 em. The area of the figure formed by joining the mid points of sides of the
2  rhombus is:

Ans X 1. 96 cm?
X< 2 64 cm?
v 3. 48 cm?
X 4192 cm?

Page (28)
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03-9 Tz el e AR wE TR e @ % Fa & fawr, vea-IfoEr FEAT g

Ans X171 : 2
™2
vi1:3
K42:3

% e amgpfy # fraw e &2

Ans ?"ﬁ- 14
<2 30
<320

%° InIndianeconomy, are the principal means of transportation.
Ans 1. cycles

« 2 the railways

/< 3. ships

4 bullock carts

Page (29)
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L FF T 37 3T B F G T FT TG RE & AT 7
A)TETS
B)=isE

0 @
(<)
4'34

X OOO

Q.9 g e wEnfEar #Her: 40 kmvhr 3T 32 km/he T TR0 T BT o F 99 T € & 9 "o o
7 e o we O WO & 45 cuf@g 3 15 B9 H O & e ¥ A9 Teny T Y &
FeT el 32

Ans X1.200 m
X2120 m
v 300 m
24100 m

Y e @ g g 17 ¥ wEE A6
Ans 4’13_]1?&?

X 2 g

X 3. it

X 4 oreirleT

Page (30)
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A B C D
6F P14 U21 W23
Ans x1_ C
X 2D
X3 A
viB

T FfatEE F ¥ Fi9 O @ e
A TEAT
B. 37T
C.RaT

D. ®r==r
Ans 1.
v
X3
5 a

0O » 00
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